.   Given the following information, determine the three missing amounts.
 
                                                                                                                         Stockholders’ Equity 
               Beginning of the Year                         End of the Year                   Changes During the Year       
      Total Assets                    $75,000     Total Assets                 $70,000      Investments    $10,000
      Total Liabilities                       ???     Total Liabilities               40,000      Dividends         30,000
      Total Stockholders’ Equity 25,000     Total Stockholders’ Equity   ???      Revenues         80,000
                                                                                                                    Expenses              ???
 
